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Instructions to candidates

1.	Write your answers in this Question/Answer booklet preferably using a blue/black pen. Do not use erasable or gel pens.

2. 	Answer the questions according to the following instructions.

Section One: Answer all questions on the separate Multiple-choice answer sheet provided. For each question, shade the box to indicate your answer. Use only a blue or black pen to shade the boxes. Do not use erasable or gel pens. If you make a mistake, place a cross through that square, then shade your new answer. Do not erase or use correction fluid/tape. Marks will not be deducted for incorrect answers. No marks will be given if more than one answer is completed for any question.

Sections Two and Three: Write your answers in this Question/Answer Booklet.

3. 	You must be careful to confine your answers to the specific questions asked and to follow any instructions that are specific to a particular question.

4. 	Supplementary pages for planning/continuing your answers to questions are provided at the end of this Question/Answer booklet. If you use these pages to continue an answer, indicate at the original answer where the answer is continued, i.e. give the page number.
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Section 1: Multiple-choice	24% (24 Marks)
This section has 24 questions. Answer all questions on the separate Multiple-choice answer sheet provided (see page 9). For each question, either place a cross over the correct answer or shade in the correct answer. Use only a blue or black pen to shade the boxes. If you make a mistake, place a cross through that square, then select your new answer. Do not erase or use correction fluid/tape. Marks will not be deducted for incorrect answers. No marks will be given if more than one answer is completed for any question.
Suggested working time: 30 minutes
______________________________________________________________________________

1.	Which one of these is a function of a competitive market? 
(a) 	Maintaining stable prices between different markets. 
(b)	Eliminating shortages of goods by allowing market prices to fall. 
(c) 	Achieving an equitable distribution of scarce resources. 
(d) 	Providing incentives for firms to provide goods to make a profit.

2.	What is consistent with an individual demand curve that slopes down from left to right?
(a) 	As price falls, a person switches away from rival products towards the product.
(b) 	As price falls, a person’s willingness and ability to buy the product will decline.
(c) 	As price rises, a person becomes less sensitive to price changes.
(d) 	As price rises, a person’s opportunity cost of purchasing the product falls.

3.	In deriving the supply curve for a producer, what is assumed to remain constant?
(a) 	The number of consumers
(b) 	The price of the good
(c) 	The quantity of raw material inputs
(d) 	The state of technology

4.	The effect of a rise in the price of a substitute good Y on the market for good X will be to
(a) 	shift the demand curve left and decrease the equilibrium price.
(b) 	shift the demand curve right and increase the equilibrium price.
(c) 	shift the supply curve left and increase the equilibrium price.
(d) 	shift the supply curve right and decrease the equilibrium price.

5.	Which one of the following would result in a higher quantity consumed and a lower price charged for tomatoes? 
(a) 	A fall in the price of the fertiliser used to grow tomatoes 
(b) 	A hot summer causes consumers to eat more tomato salad 
(c) 	The minimum wage for farm workers is increased 
(d) 	The price of cucumbers rises 
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6.	What will be the impact on the market for oil of the closure of the world’s largest oil field for maintenance work?
(a) 	a movement down the supply curve
(b) 	a movement up the demand curve
(c) 	a shift of the demand curve to the left
(d) 	a shift of the supply curve to the right

7.	The demand for hand sanitiser increases but at the same time the number of companies making hand sanitiser increases. What will happen to the equilibrium price and quantity of hand sanitiser?
(a) 	Equilibrium price will rise; equilibrium quantity will rise
(b) 	Equilibrium price is uncertain; equilibrium quantity is uncertain
(c) 	Equilibrium price is uncertain; equilibrium quantity will rise
(d) 	Equilibrium price will rise; equilibrium quantity is uncertain

8.	In which situation is the demand for a product said to be price elastic?
(a) 	A fall in price increases quantity demanded.
(b) 	A fall in price increases consumer expenditure on the product.
(c) 	A rise in price increases consumer expenditure on the product.
(d) 	A rise in price reduces quantity demanded.
[image: ]
9.	The diagram shows the demand curve for a normal good. Which two points indicates a move from a price inelastic point to a less inelastic point?
(a) 	Z to Y 
(b) 	Y to Z 
(c) 	X to W
(d) 	W to X


	Price
	Quantity demanded

	$5.00
	400

	$4.50
	480


10.	The table shows the demand for chocolates at two different prices. What is the price elasticity of demand when the price falls from $5.00 to $4.50?



(a) 	less than 0.5
(b) 	between 0.5 and 1
(c) 	between 1 and 1.5
(d) 	greater than 1.5
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11.	A product has a price elasticity of supply of 2.0. A change in price causes the quantity supplied to change from 100 units to 120 units. What is the price change?
(a) 	a fall of 10%
(b) 	a fall of 40%
(c) 	a rise of 10%
(d) 	a rise of 40%

12.	What causes an inelastic market supply curve for an agricultural crop such as wheat?
(a) 	A government decision to import crops at times of shortage.
(b) 	An efficient use of fertilisers causing crop production to rise.
(c) 	The storage of excess production for future sale.
(d) 	The very long time required to produce additional output.

13.	What follows if the income elasticity of demand for a good has a value of –0.2?
(a) 	When income rises less of the good is bought.
(b) 	When income rises more of the good is bought.
(c) 	When price falls more of the good is bought.
(d) 	When price rises less of the good is bought.

14.	What is most likely to cause an increase in the consumer surplus in a market? 
(a) 	A decrease in the price of a substitute good  
(b) 	An increase in the number of substitute goods 
(c) 	An increase in the price of a complementary good 
(d) 	An increase in supply
[image: ]
15.	The diagram shows the market for diesel fuel. The demand for diesel fuel decreases from D1 to D2. Which area represents the new producer surplus for companies supplying diesel fuel?
(a) 	GMNH 
(b) 	JGM 
(c) 	JHN 
(d) 	JNR

16.	Which of these is an example of market failure?
(a) 	A general increase in the price of hotel rooms in busy summer seasons.
(b) 	An increase in house prices caused by easier borrowing for house buyers.
(c) 	An increase in travel time caused by a road accident.
(d) 	An increase in unsold goods because of a change in tastes.
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17.	An airline upgrades its services by providing bigger aircraft. The airline claims it will reduce both travel time and carbon emissions per passenger journey although fares may rise. What is a private cost and an external benefit of this decision?

	
	Private cost
	External benefit

	(a)
	Less carbon emissions 
	Reduced travel time 

	(b)
	Higher fares
	Less carbon emissions

	(c)
	Reduced travel time
	Bigger aircraft

	(d)
	Bigger aircraft 
	Higher fares



18.	Which one of the following is not one of the strategies employed by the ACCC (Australian Competition and Consumer Commission)?
(a)	Promoting market power to increase market efficiency 
(b)	Protecting the interests and safety of consumers 
(c)	Supporting fair trading in markets affecting small business
(d)	Maintaining and promoting competition

19.	Which situation involving the building industry is most likely to be investigated by a government body set up to control restrictive practices?
(a) 	A builder purchasing a plot of land for development of housing
(b) 	Groups of suppliers of building materials agreeing to fix prices
(c) 	Several builders bidding for the same contracts
(d) 	Several builders using different sources of supply

20.	Smoking cigarettes generates negative consumption externalities. This means that 
(a) 	the private benefit from smoking includes the consumption externalities. 
(b) 	the social benefit from smoking is negative.
(c) 	the social benefit from smoking is less than the private benefit. 
(d) 	the social optimum level of smoking is zero. 

21.	Vertical equity implies that
(a)	people on lower incomes should pay a lower rate of tax and receive more government benefits than people on higher incomes.
(b)	people on higher incomes should pay more tax and receive less government benefits than people on lower incomes.
(c)	people on similar incomes should pay the same rate of tax and receive the same amount of government benefits.
(d)	the government should equalise income across all sections of society so that there is no vertical income distribution.
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22.	It can be argued that a road may NOT be a public good because
(a) 	when one car uses the road another car can still use the road.
(b) 	the private sector can build and maintain roads.
(c) 	travel times may vary with usage. 
(d) 	the road is used by both public and private forms of transport.

23.	A government intends to introduce a minimum price for rice, a maximum price for heating oil and a tax on chewing gum. Who, in each market, is meant to benefit from these policies?

	
	Market for rice
	Market for heating oil
	Market for chewing gum

	(a)
	consumers
	government
	producers

	(b)
	government
	producers
	government

	(c)
	producers
	producers
	consumers

	(d)
	producers
	consumers
	government



24.	Too much sugar causes an increase in a consumer’s weight. A government has introduced a ‘sugar tax’ on the consumption of soft drinks that have a high sugar content. How might this policy help to reduce the number of overweight people?
(a) 	Consumers switch to cheaper brands of soft drink with a high sugar content.
(b) 	The tax revenue is spent on education about the dangers of soft drink consumption.
(c) 	The price elasticity of demand for soft drinks is inelastic.
(d) 	Consumers switch to other high-sugar substitute goods, such as alcohol or sweets.
	



______________________________________________________________________________






End of Section One
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ECONOMICS ATAR EXAMINATION Unit 1

SECTION 1: Multiple-choice Answer Sheet


Student name:  __________________________________________
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Student number: 


(Either place a cross over the correct answer or shade in the correct answer)


	1
	A
	B
	C
	D
	
	13 
	A
	B
	C
	D

	2
	A
	B
	C
	D
	
	14 
	A
	B
	C
	D

	3
	A
	B
	C
	D
	
	15 
	A
	B
	C
	D

	4
	A
	B
	C
	D
	
	16 
	A
	B
	C
	D

	5
	A
	B
	C
	D
	
	17
	A
	B
	C
	D

	6
	A
	B
	C
	D
	
	18
	A
	B
	C
	D

	7
	A
	B
	C
	D
	
	19
	A
	B
	C
	D

	8
	A
	B
	C
	D
	
	20
	A
	B
	C
	D

	9
	A
	B
	C
	D
	
	21
	A
	B
	C
	D

	10
	A
	B
	C
	D
	
	22
	A
	B
	C
	D

	11
	A
	B
	C
	D
	
	23
	A
	B
	C
	D

	12
	A
	B
	C
	D
	
	24
	A
	B
	C
	D
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Section Two: Data interpretation/Short answer	36% (36 Marks)

This section contains three (3) questions. Answer all questions. Write your answers in the
spaces provided.
Supplementary pages for the use of planning/continuing your answer to a question have been provided at the end of this Question/Answer booklet. If you use these pages to continue an answer, indicate at the original answer where the answer is continued, i.e. give the page number. 
Suggested working time: 70 minutes.
______________________________________________________________________________

Question 25	(12 marks)
Pharmacies caught price gouging, capitalising on coronavirus panic
With the Coronavirus poised to go pandemic, profiteers are exploiting global hysteria and charging consumers hundreds of dollars above normal prices for protective face masks.
The proliferation of panicked buyers desperate to halt the spread of germs has sparked a nationwide face mask shortage.

[image: ](a)	Use the diagram below to explain how, initially, a shortage can occur in response to news of the pandemic.	(3 marks)
______________________________________________________________________________
______________________________________________________________________________
______________________________________________________________________________
______________________________________________________________________________
______________________________________________________________________________
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(b)	Explain how a competitive market will respond to eliminate an initial shortage.	(2 marks) 
______________________________________________________________________________
______________________________________________________________________________
______________________________________________________________________________
______________________________________________________________________________
______________________________________________________________________________
______________________________________________________________________________
______________________________________________________________________________
______________________________________________________________________________

(c)	If consumers expect the future price to increase even more, how will this affect the market?	(2 marks)
______________________________________________________________________________
______________________________________________________________________________
______________________________________________________________________________
______________________________________________________________________________
______________________________________________________________________________
______________________________________________________________________________
______________________________________________________________________________
______________________________________________________________________________
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[image: ](d)	The government wants to stimulate production and reduce prices for face masks. What policy could it introduce to achieve this? Show the impact on the diagram below. Would this policy improve equity?  Would it increase market efficiency? 	(5 marks)
______________________________________________________________________________
______________________________________________________________________________
______________________________________________________________________________
______________________________________________________________________________
______________________________________________________________________________
______________________________________________________________________________
______________________________________________________________________________
______________________________________________________________________________
______________________________________________________________________________
______________________________________________________________________________
______________________________________________________________________________







See next page

Question 26	(12 marks)
Changes in price elasticity can provide retailers with opportunities to increase revenue.
[image: ]When price elasticity for different products changes, smart retailers can take advantage by adjusting their prices up or down in order to boost their revenues. A great example is provided by the changes in price elasticity for men’s and women’s sneakers.

	Price Elasticity of D
	2014
	2019

	Men’s sneakers
	1.2
	1.6

	Women’s sneakers
	1.2
	0.8




(a) 	Provide a definition for price elasticity of demand. 	(1 mark)
______________________________________________________________________________
______________________________________________________________________________
______________________________________________________________________________
______________________________________________________________________________

(b)	Outline one factor affecting the price elasticity of demand for sneakers.	(1 mark)
______________________________________________________________________________
______________________________________________________________________________
______________________________________________________________________________
______________________________________________________________________________
______________________________________________________________________________

(c)	Use the information for 2019 to complete the following table given a 5 per cent increase in the price of sneakers.	(4 marks)
	5% increase in price
	% change Qd
	Effect on total revenue

	Men’s sneakers
	
	

	Women’s sneakers
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(d)	Discuss which customer group would be more willing to pay full price and which group would be more influenced by a discount sale in 2019.	(3 marks)
______________________________________________________________________________
______________________________________________________________________________
______________________________________________________________________________
______________________________________________________________________________
______________________________________________________________________________
______________________________________________________________________________
______________________________________________________________________________
______________________________________________________________________________
______________________________________________________________________________

(e)	Define income elasticity of demand and explain whether income elasticity for sneakers is likely to be positive or negative. 	(3 marks)
______________________________________________________________________________
______________________________________________________________________________
______________________________________________________________________________
______________________________________________________________________________
______________________________________________________________________________
______________________________________________________________________________
______________________________________________________________________________
______________________________________________________________________________
______________________________________________________________________________
______________________________________________________________________________
______________________________________________________________________________
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Question 27 	(12 marks)
The government is concerned of the adverse effect of the Uber industry on the taxi market. It decides to impose a $20 tax per Uber ride and give the tax revenue to the taxi industry. 
Market for Uber rides (weekly)

[image: ]
(a)	On the graph, show the effect of the $20 tax per ride – hint: you will need to draw in a new curve. 	(1 mark)
	Use the graph to identify the 
	i. 	the price buyers pay after the tax:        ______________________________ 	(1 mark)
	ii. 	the price sellers receive after the tax:  ______________________________	(1 mark)
	iii. 	the equilibrium quantity after the tax:   ______________________________	(1 mark)

(b)	Calculate the amount of revenue the tax would raise over 1 year (show your working).		(2 marks)
______________________________________________________________________________
______________________________________________________________________________
______________________________________________________________________________
______________________________________________________________________________
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(c)	Determine whether the incidence of the tax would fall more on consumers or producers. Use the graph to identify how much of the $20 tax is paid by Uber consumers and Uber owners.	(2 marks)
______________________________________________________________________________
______________________________________________________________________________
______________________________________________________________________________
______________________________________________________________________________
______________________________________________________________________________
______________________________________________________________________________

(d)	Analyse the effect of the tax on consumer surplus, producer surplus and market efficiency.		(4 marks)
______________________________________________________________________________
______________________________________________________________________________
______________________________________________________________________________
______________________________________________________________________________
______________________________________________________________________________
______________________________________________________________________________
______________________________________________________________________________
______________________________________________________________________________
______________________________________________________________________________
______________________________________________________________________________
______________________________________________________________________________
______________________________________________________________________________
______________________________________________________________________________




End of Section Two
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Section Three: Extended answer	40% (40 Marks)

This section contains three (3) questions. Answer two (2) questions. Write your answers in the lined pages provided and number your answers clearly.
Supplementary pages for the use of planning/continuing your answer to a question have been provided at the end of this Question/Answer booklet. If you use these pages to continue an answer, indicate at the original answer where the answer is continued, i.e. give the page number.
Suggested working time: 80 minutes.
______________________________________________________________________________

Question 28	(20 marks)

(a)	Illustrate and explain how each of the following would affect the market supply of a good:
· an increase in the price of the good
· an increase in input prices
· an improvement in technology
· an increase in the expected future price of the good 	(12 marks)

(b)	Explain the meaning of price elasticity of supply and discuss three determinants of price elasticity of supply.  	(8 marks)
______________________________________________________________________________

Question 29	(20 marks)

(a) 	Use a demand/supply model and the concepts of consumer and producer surplus to explain the benefits to both buyers and sellers from participating in a market.	(8 marks)

(b) 	Price floors are often used in agricultural markets. Explain the purpose of a price floor and with the aid of a model analyse its effects on consumers, producers and market efficiency.		12 marks) 
______________________________________________________________________________

Question 30	(20 marks)

Explain how each of the following is an example of market failure. Where appropriate use a model to support your answer.
· Market power
· Negative externality
· Common resource
· Public good
For each example discuss a policy option that could be used to overcome the market failure.
______________________________________________________________________________





End of Questions
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